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5%)_____ SSC GD CONSTABLE 2023 - FOUNDATION BATCH
N What least number must be subtracted from 1936 so
1 that the remainder when divided by 9, 10, 15 will be
same as 77
1936 & foFT Ta® ST T&AT &I TSHIT ATHT AR qT(h
9, 10, 15 & fawTiora 819 X AW 7 F qHIH I J1T?

(1) 35
(2) 36

§3E 38
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SSC GD CONSTABLE 2023 - FOUNDATION BATCH
N’ \When 7113 is divided by 50 then find out the
2 remainder.

ST 7113 1 50 ¥ fasriora AT ST § O QW F T 9ar
Sany
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) SSC GD CONSTABLE 2023 - FOUNDATION BATCH
N The LCM is two numbers is 12 times their HCF. The
3 sum of the HCF and the LCM is 403. If one of the
numbers is 93, then other number is —
< H@TIAT T AT ,12 AT ToHT & ,JiQ Toqeq 3
Hoqeq FT T 403 § 3T TF G&AT A< 93 § ar @l

?
S [ 1b4
(2) 128
(3) 134
(4) 138
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) SSC GD CONSTABLE 2023 - FOUNDATION BATCH
" /4 “3/17,'3/11 and V2 arrange in ascending order/
RIS HH | WY

14 28 7/;

3)V2,V4, V17, 'V11
(4) not
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A SSC GD CONSTABLE 2023 - FOUNDATION BATCH

N’ The radius of the base of a conical tent is 7 m and its
5 height is 24 m. What is the length of the canvas that is
2.5m wide required for this tent?

TF AHTHRTC T8 o T Y Bt 7 diex g i eht
TS 24 Hie< g1 Ay it F91s 4T g S 2.5 HeT A

®? (1) 200
m
(2) 240

ks

Y
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@ SSC GD CONSTABLE 2023 - FOUNDATION BATCH _

N |1 G is the centroid and AD be a median with length
| @ of 12 cm of ABC then the value of AG is-
Ife G FgF T MTAD 12 §ffir fraaE F oo vs
&g 1@T g st ABC &t ,aT AG T qT9 &-

(1) 4 cm
(2) 6 cm |
(4) 10

cm
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SSC GD CONSTABLE 2023 - FOUNDATION BATCH

$in200 x sin400 x sin80° = ?
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SSC GD CONSTABLE 2023 - FOUNDATION BATCH

tan19tan2° tan3° tan49.... tan88° tan89° = ?

(1)0
(2) V3

1




If a =36, b =36 and ¢ = 37, then find the value of
as+b3+c3-3abc.

(1)0

(2) 1

232 218
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If x + % = /3 then the value of x%2% + 1 IS :

X540




SSC GD CONSTABLE 2023 - FOUNDATION BATCH

The average of 10 numbers is 7. If each number is

multiplied by 12, the average of the new set of
numbers will be

10 S=AT3A FT N 7. TS AT G112 § 0T 34T
STAT g, aT GEITAT & T 9 HT {9 T ?

(1)7
(2) 19

%
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SSC GD CONSTABLE 2023 - FOUNDATION BATCH

A sum of money becomes eight times of itself in 3
years at compound interest. The rate of interest per
annum Is-

THgTG SATST U< 3 T A ATS AT 47T &+ S{rav gl v
Y ST 3 &-

T

100%

(2) 80%
(3) 20%
(4) 10%
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SSC GD CONSTABLE 2023 FOUNDEI'I_ON_BATGH

The marks price of a radio set is Rs. 480. The
shopkeeper allows 10% discount and gain 8%. If no
discount is allowed find his profit.

T AT A< F7 SifFa [T €480 § TFMI 10% HY

gS FATAR 8% FTATH I AT g1 AR A GE T h
STT Q¥ ATH a7 L ?

(1) 15%
[(2) Z0%
(3) 56%
(4) 14%
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SSC GD CONSTABLE 2023 FOUNDEriON_BATGH

In a college election fought between two candidates, one candidate
got 55% of the total valid votes. 15% of the votes were invalid. If the
total votes were 15,200, what is the number of vaild votes the other
candidate got?

T ST & 1 d8 TT FiAS AT |, TH STHIQAT H T I8 TAqT T
55% =T, 15% e 9T 91 ITR T A1 15,200 A, AT (=7 ISTHITA AT
A et it g fhadt 87

(1) 7106
(2

(3) 8360
(4) 5814
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SSC GD CONSTABLE 2023 FOUNDEI'I_ON_BATGH

A pot contain 81 litres of pure milk. 1/3. of the milk is
replaced by the same amount of water. Again 1/3 of the
mixture is replaced by that amount of water. The ratio of the
milk and water in the new mixture is

TF a9 ¥ 81 e & TH AT 81 1/3 T Y I il GHTT HATAT
T qa far Strar 21 6 & frsor & 1/3 7 &4 qiet Y /e
o AT STar g1 ¢ frsor § 3oy i qreT FT AqUTT § ?

(1)1:2
(2)1:1
(3)2:1

(4)E:-5 ]
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SSC GD CONSTABLE 2023 - FOUNDEriON_BATGH

After 5 years the age of a mother will be thrice the age of his
son, whereas five years ago, he was 7 times as old as his
son was. What are their present ages?

5 91T F 97€ TF A1 it ST 39 A& T 37 § i T Y S,
STtk O 9T I8 98 (9 9 q 7 A7 q81 A1) ST aqq™

AT AT 87

(1) 39 yr, 8 yr
(220 yr, Oy ]
(3) 36 yr, 14 yr
(4)49 yr, 12 yr
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SSC GD CONSTABLE 2023 FOUNDEI'I_ON_BATGH

A person has to cover a distance of 80 km in 10 hrs. If he
covers half of the journey in 3/5 time, what should be his
speed to cover the remaining distance in the time left?

T AfF # 10 ¢ | 80 fFt & & a7 +T AT 81 iR a8
3/5 a9 | reft ATAT T FAL HLAT &, AT oo gC AT | AU g
T FAL HLA & 1T I A FIT AT ATT?

(1) 6 km/hr

fzg 8 km/hr
hr

(4) 12 km/hr
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SSC GD CONSTABLE 2023 FOUNDEriON_BATGH

A person has to reach a certain place at a certain time and he finds that he
will be 15 minutes late if he walks at 4 km/hr and 10 min earlier, if he walks
at 6 km/hr. Find the distance he has to cover?

T AT w T AT a0 9 o RS eme < ag== giar § 3w ag 4 Rt
[ "eT ¥ ST ar 15 fAwe fAda & yg=ar g, afcag 6 e/ serfir afa o ==
ar 10 fA9e aga yg=ar g | 98 At &t aa Far 87

WELUL

i2§ 4 km

(4) 6 km
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SSC GD CONSTABLE 2023 FOUNDEI'I_ON_BATGH

Wages of 20 boys for 15 days is Rs. 9000. If the daily wage of
a man is one and half times that of a boys, How many men
must work for 30 days to earn Rs. 135007

15 o= & T 20 St 7 Aa9 € 9000. 3 TH AeHT it e[+

A ASHI T AT A F AT 8, ar Fhawr geut &1 30 ’eer & &%
13500 FHT % T F1H FLAT ATRT?

(1) 12 men
(2) 20 men

3) 16 men
(4) 10 mgn
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SSC GD CONSTABLE 2023 - FOUNDATION BATCH

12+\/12+\/1z +....00 =?
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